
  

The Switcher – Chapter 3 

 

 
Comprehension Questions 
 

1. Why couldn’t Ben believe that Mum was giving Rocky some 
chocolate cake? 

 a because dogs aren’t allowed chocolate 

 b because he thought she’d finished it the day before 

 c because it was his cake 

 d because it made such a mess 

 e because it was rare for her to offer treats between meals 

 
 

2. Ben suggested that they should go outside because… 

 a he really needed some fresh air. 

 b he knew he wouldn’t be able to play with his toys. 

 c he needed to talk to Rocky in private. 

 d he wanted to go back to Nell’s house. 

 e he didn’t want to watch Rocky eating cake. 

 
 

3. Rocky fell over when he first tried to jump on the trampoline 
because… 

 a he didn’t adjust his technique to suit a human body. 

 b he was distracted by Ben. 

 c he hadn’t been on the trampoline before. 

 d the trampoline was wet. 

 e he caught his foot in a net. 

 
 

4. Out in the garden, Rocky taught Ben to… 

 a bury a bone. 

 b climb a tree. 

 c play like a dog. 

 d chase his tail. 

 e jump over the washing line. 
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5. At the end of the chapter, Dad was __________________ at the 
sight of their pet dog using the toilet. 

 a astounded 

 b irritated 

 c disgusted 

 d petrified 

 e embarrassed 

  


